Tuto lightsaber

By Creuzet Quentin



* make 2 circles of 4.5
and 5 in diameter
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lifting the surplus lines as
shown in the picture
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extrude from 10 mm




* make a new sketch on the background. Make a new
circle identical to the small one, then Extrude 0.5
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* Make a 1mm fillet at the bottom as shown and make a 0.3 chamfer at the

bottom




P variable (3 Etendue

Rayon Type

| @ aréte
i€ 0,2mm Y~k
ez pour ajouter OBoude
(O Fonction
i+ Solides

Mode de sélection

[JTous les congés

[JTous les arrondis

A

A
Chanfrein X
Chanfrein  partiel
Distance
Arétes 3
7§7 Face Angle
. 85deg >
Chainage des arétes Etendue
B (B %) 3¢
Conserver toutes les fonctions
& [ ok ]| amer || Aopiauer |

make a chamfer of

0.25 with an
85° and mac
of 0.2 as on

angle of
e a leave
nicture




Propeétés X =
Extruder > Esquisse3 :, - 8,000 mm
v Géométrie d'entrée

Contours k [ Contour-1

Depuis R 47 Plan d'esquisse - 1

v Comportement

Direction (KIK >




Create a 2D sketch * made a triangle of 2.7

on the YZ,
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Extrude the triangle

8,000 mmFANEs




Create a 2D
sketch on the XY,

* make a circle of 1,5cm
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Propriétés avancées




Make a 2D sketch on
the XZ plane




Make a circle of 3.9 in the
centre and extrud 50




Conserver toutes les fonctions

Creat laying eggs the
way you want




add the colours you want and you're done



